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g T e L B sy ==

> N ]

3 B Sum ET (4.0 < p| < 4.8, P> 0.5(0.2) GeV) _

sjul” 1 = E

= | £ - -

sla [ ]

° L |

—|_3 _1

407 =

107 £ E

-3 | |

1075w ATLAS =

— --f3-- Herwig 7.0.1 default ]

| —— Pythia 8.230 default . ]

----- ¢+ Sherpa 1.4.1 default g

107 = =

e e

2 B =

-t -

wn r “'}“‘. t

< - \','\ ]
e 1

o) B N )

"c_s' — ‘x\\ ]

@ B X |

0.5 _|

| 1 1 1 1 " | M I\\. 1 N 1 M 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1

|
10 20 30 40
sum E_ [GeV]

Rivet 3.1.0, = 7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


